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Introduction


	The main purpose of these book is to provide you an impressive and invaluable collection of English Grammar multiple-choice exercises with answers.

	 

	This book comprises different items and will take you on a beautiful journey towards improving your English for any exam. 

	 

	There are 1400 items in this book with regard to subjects as: adjectives, adverbs, articles, conjunctions, countable and uncountable nouns, grammar, nouns, prepositions, pronouns, punctuation, verbs etc.

	 

	This book is innovative because you have to think the opposite way and choose the wrong item in the sentence. 

	 

	Please keep an eye on further releases.

	Good luck! 



	




	Set I

	1. Choose the wrong word: “Although a number of voters has cast their ballots in the city election, the supervisor of elections temporarily ended them because of a malfunction in the voting mechanism.”.
      a) hast cast
      b) temporarily
      c) of

	2. Choose the wrong word: “While this is not the most popular course offered at the university, just like many others classes that have low attendance in spite of their importance, at least several classes are always available.”.
      a) importance
      b) others
      c) the most popular

	3. Choose the wrong word: “For years, this varsity athletes have been known throughout the country for their tremendous abilities.”.
      a) for
      b) tremendous
      c) this

	4. Choose the wrong word: “The company had been operate in an old warehouse since its inception, when it built a huge, efficient and modern office building.”.
      a) operate
      b) its
      c) efficient

	5. Choose the wrong word: “Before administering the exam, the proctor required that the students take their seats and removing all items from their workplaces.”.
      a) required
      b) removing
      c) their

	6. Choose the wrong word: “Some people enjoy preparing their own meals while another would rather eat out regularly.”.
      a) their
      b) while
      c) another

	7. Choose the wrong word: “The news of the decision to invade with armed forces were not well received by the citizens”.
      a) were
      b) to
      c) received

	8. Choose the wrong word: “Air traffic controllers must use a form of communication that is universal understood because a pilot’s understanding of instructions is critical.”.
      a) use
      b) universal
      c) understanding

	9. Choose the wrong word: “Hurricanes hardly never reach the east coast, but some that have were extremely hazardous.”.
      a) never
      b) reach
      c) extremely

	10. Choose the wrong word: “Children raised in foster homes requirement special attention to overcome the feelings of abandonment and isolation.”.
      a) of
      b) overcome
      c) requirement

	11. Choose the wrong word: “With so many choices of wireless technology, it is often difficulty to determine which offers the best value and quality.”.
      a) with
      b) choices
      c) difficulty

	12. Choose the wrong word: “Entering in the country in car may cause different treatment by customs officials than entering by way of mass transportation.”.
      a) in
      b) cause
      c) entering

	13. Choose the wrong word: “Some teachers enjoy writing articles and performing research, while anothers would be more content to devote all their time to teaching.”.
      a) writing
      b) anothers
      c) to devote

	14. Choose the wrong word: “Tests have been performed to determine whether studying TOEFL questions will help students rise their test scores.”.
      a) been
      b) whether
      c) rise

	15. Choose the wrong word: “The professor decided to allow the students to take the examination a second time because the low scores.”.
      a) to allow
      b) because
      c) second

	16. Choose the wrong word: “Having withdrawn from the race, the candidate decided supporting his opponent despite the opponent’s representing the other party.”.
      a) having
      b) despite
      c) supporting

	17. Choose the wrong word: “The congressman, accompanied by secret service agents and aides, are preparing to enter the convention hall within the next few minutes.”.
      a) are
      b) to enter
      c) within the next

	18. Choose the wrong word: “Because the torrential rains that had devastated the area, the governor sent the National Guard to assist in the clean-up operation.”.
      a) to assist in
      b) Because
      c) torrential

	19. Choose the wrong word: “Lack of sanitation in restaurants are a major cause of disease in some areas of the country.”.
      a) of sanitation
      b) cause of
      c) are

	20. Choose the wrong word: “Had the committee members considered the alternatives more carefully, they would have realized that the second was better as the first.”.
      a) more carefully
      b) as the first
      c) second was

	21. Choose the wrong word: “Malnutrition is a major cause of death in those countries where the cultivation of rice have been impeded by recurrent drought.”.
      a) is a major
      b) have
      c) in those countries

	22. Choose the wrong word: “The decision to withdraw all support from the activities of the athletes are causing an uproar among the athletes’ fans.”.
      a) among
      b) to withdraw
      c) are causing

	23. Choose the wrong word: “Underutilized species of fish has been proposed as a solution to the famine in many underdeveloped countries.”.
      a) has been
      b) as
      c) to the famine

	24. Choose the wrong word: “Because the residents had worked so diligent to renovate the old building, the manager had a party.”.
      a) had worked
      b) diligent
      c) to renovate

	25. Choose the wrong word: “David’s wisdom teeth were troubling him, so he went to a dental surgeon to see about having them pull.”.
      a) them pull
      b) were troubling
      c) to see

	26. Choose the wrong word: “Sarah had better to change her study habits if she hopes to be admitted to a good university.”.
      a) had
      b) to a good university
      c) to change

	27. Choose the wrong word: “Overeating, in addition to lack of attention to nutrition, are said to be the major cause of obesity in the United States.”.
      a) lack
      b) are
      c) cause

	28. Choose the wrong word: “Because the students showed they had read the materials so thorough, the instructor decided not to administer an exam.”.
      a) thorough
      b) because
      c) to administer

	29. Choose the wrong word: “Sarah decided to wait until after she had taken her exams before having her wisdom teeth pull.”.
      a) to wait
      b) having
      c) pull

	30. Choose the wrong word: “Hardly the plane had landed when Daniel realized that he had left the file that he needed at his office.”.
      a) Hardly the plane had
      b) realized
      c) that he had

	31. Choose the wrong word: “The consultant said management had better to formalize its employment policies and procedures in order to avoid adverse employment claims in the future.”.
      a) avoid
      b) to formalize
      c) adverse

	32. Choose the wrong word: “The author has not rarely written anything that was not a best-seller.”.
      a) author
      b) anything
      c) not rarely

	33. Choose the wrong word: “The Dean of The College of Education has already to decide whether to permit the meeting to be held on campus.”.
      a) already to decide
      b) the
      c) to permit

	34. Choose the wrong word: “The professor had already completed calculation of the final grades and had submit them to the office when Mary delivered her paper.”.
      a) already
      b) of
      c) had submit

	35. Choose the wrong word: “Several cars plunged into the water when the pier was striking by a barge that separated from its tugboat.”.
      a) from
      b) was striking
      c) plunged

	36. Choose the wrong word: “The new prospect for the team has great height and agility, but the coaches do not believe he moves enough quickly to play in the position that they need to fill.”.
      a) play
      b) enough quickly
      c) height

	37. Choose the wrong word: “So much people applied for service from the new company that it found it impossible to meet the demand.”.
      a) for
      b) much
      c) impossible

	38. Choose the wrong word: “The meeting is being held in the fifth floor of the convention center, but there are functions on every floor.”.
      a) in
      b) being
      c) are

	39. Choose the wrong word: “An orangutan escaped from the zoo and was foraged food in a residential neighborhood.”.
      a) in
      b) residential
      c) was foraged

	40. Choose the wrong word: “The school officials are considering a comprehensive planning to alleviate the problem of overcrowding in the dormitories.”.
      a) planning
      b) alleviate
      c) are

	41. Choose the wrong word: “Spanish is the only course that it is not offered in the summer term, but there are several classes offered in the fall.”.
      a) offered
      b) it
      c) several

	42. Choose the wrong word: “Sarah was not best speaker in the class, but her personality and ability to convey her feelings helped her become the most requested.”.
      a) not best
      b) her
      c) requested

	43. Choose the wrong word: “The issues learned during the early stages of the project causing the researchers to initiate additional research.”.
      a) during
      b) additional
      c) causing

	44. Choose the wrong word: “Only when black bear has been spotted by the forest rangers will this portion of the park be closed down.”.
      a) when black
      b) will
      c) closed

	45. Choose the wrong word: “Television news producers are sometimes accuse of sensationalism, but it appears that is what the public desires.”.
      a) news
      b) what
      c) accuse

	46. Choose the wrong word: “The workers attempted to free the cat from the trap, but several obstacles were in way.”.
      a) free
      b) in way
      c) attempted

	47. Choose the wrong word: “Not only could the younger people completed all the work quickly and accurately, but the retired workers could also.”.
      a) completed
      b) could
      c) also

	48. Choose the wrong word: “He’s not having finished his thesis did not discourage him from applying for other degree program.”.
      a) finished
      b) discourage
      c) other

	49. Choose the wrong word: “That investors in the stock market enjoys increases and suffer declines is simply a fact of the financial market, and a smart investor is not too excited about the former or crestfallen about the latter.”.
      a) former
      b) declines
      c) enjoys

	50. Choose the wrong word: “Having been found guilty of racketeering, even though he was never proven guilty of many crimes he was believe to have committed, the mobster was sentenced to a number of years in prison.”.
      a) proven
      b) believe
      c) have

	51. Choose the wrong word: “Had Daniel be able to complete his thesis instead of returning to work, he would have graduated a year ago.”.
      a) be
      b) complete
      c) have

	52. Choose the wrong word: “After the data has received and reviewed, the finance department employees should be able to determine the best course of action.”.
      a) be
      b) to determine
      c) has received

	53. Choose the wrong word: “Owing a home, the dream of many, an unattainable goal for many young people without aid from governmental and non-profit sources.”.
      a) an
      b) aid
      c) sources

	54. Choose the wrong word: “After the jury had determined liability, its next task was to decide how much money should it assess as damages.”.
      a) next
      b) should it
      c) to decide

	55. Choose the wrong word: “If the Board had not reversed its position on the petition to approve the fence, the owner would had to remove it.”.
      a) remove
      b) its
      c) would had

	56. Choose the wrong word: “A prolific writer, even when he was teaching a number of classes, Daniel Smith never achieving popularity among the masses.”.
      a) was
      b) achieving
      c) classes

	57. Choose the wrong word: “Attorneys who practice in the area of personal injury generally spending considerably more money on advertising in telephone books and on television than other types of attorneys.”.
      a) other
      b) spending
      c) types

	58. Choose the wrong word: “This city, known as oldest city in the country is home to the oldest schoolhouse.”.
      a) city
      b) the country
      c) as oldest

	59. Choose the wrong word: “The committee voted purchase the land next to the company’s existing building, but the resolution was not approved at the full Board meeting.”.
      a) voted purchase
      b) next
      c) existing

	60. Choose the wrong word: “Students may buy used books if they had been readily available and correctly priced.”.
      a) readily
      b) used
      c) had been

	61. Choose the wrong word: “Without a doubt, the best way to do well in college to keep up constantly with the homework, read everything that is required and regularly outline all the class notes.”.
      a) regularly
      b) doubt
      c) way to

	62. Choose the wrong word: “In the early morning, the hikers broke camp and began the long trek towards home, hoping to before noon arrive.”.
      a) before noon arrive
      b) towards
      c) began

	63. Choose the wrong word: “Though the danger had passed, officials were hesitant to allow residents to return to their homes because they were unsure how much damage caused by the high winds.”.
      a) hesitant
      b) caused
      c) to return

	64. Choose the wrong word: “Daniel is certain to be hired for the position because at his interview he displayed his talents in writing, speaking, organizing, delegating and to lead.”.
      a) position
      b) because
      c) to lead

	65. Choose the wrong word: “Hepatitis C generally occurs 20 to 30 year after one is exposed to the illness.”.
      a) year
      b) exposed
      c) occurs

	66. Choose the wrong word: “The knee is the recipient of constant pressure, which causes them to fail often and requires replacement with artificial parts.”.
      a) recipient
      b) them
      c) to fail

	67. Choose the wrong word: “Effective speaking and proficient writing is generally seen as requirements for a professor to achieve tenure.”.
      a) speaking
      b) proficient
      c) is

	68. Choose the wrong word: “Universities often ignore a student’s lack of scholastically ability when the student has great athletic potential in a sport that is important to the school.”.
      a) lack
      b) athletic
      c) scholastically

	69. Choose the wrong word: “Daniel Smith he wrote down-to-earth accounts of individuals and families who suffered through the Great Depression.”.
      a) individuals
      b) he wrote
      c) accounts

	70. Choose the wrong word: “Numismatics, the study of coins, can be very rewarding once a person becomes familiar with determining the date and type of a coin, as well as grade it.”.
      a) grade
      b) once
      c) familiar

	71. Choose the wrong word: “Listening to recorded books while driving is a means of utilize time wisely.”.
      a) means
      b) recorded
      c) utilize

	72. Choose the wrong word: “The passionate and exuberant display of the orchestra conductor moving several members of the audience to tears.”.
      a) of
      b) audience
      c) moving

	73. Choose the wrong word: “In 1947, he became a first Black American to play major league baseball.”.
      a) to play
      b) a
      c) in

	74. Choose the wrong word: “As a company grows in size, it is important to maintain communicate among the various departments.”.
      a) communicate
      b) in
      c) as

	75. Choose the wrong word: “Research involving animals is useful when researchers developing medicines to combat illnesses of both animals and people.”.
      a) involving
      b) to combat
      c) when

	76. Choose the wrong word: “Rocks can be broken apart by water that seeps into the cracks and freeze in low temperatures.”.
      a) broken apart
      b) that
      c) freeze

	77. Choose the wrong word: “This city, the capital of the state, are not only the largest city in the country but also a typical metropolitan area, often used in market research.”.
      a) but also
      b) are
      c) used

	78. Choose the wrong word: “Although maple trees are among the most colorful varieties in the fall, they lose its leaves sooner than oak trees.”.
      a) its
      b) among
      c) in the fall

	79. Choose the wrong word: “The teacher told the students to don’t discuss the take-home exam with each other.”.
      a) discuss
      b) with each other
      c) to don’t

	80. Choose the wrong word: “Because she didn’t like shop very much, she did most of it with her personal computer.”.
      a) did
      b) shop
      c) with

	81. Choose the wrong word: “Knowledges about cultures provides insights into the learned behaviors of groups.”.
      a) learned
      b) knowledges
      c) insights into

	82. Choose the wrong word: “Some people think that the desire to wear sunglasses are more a need to impress than to protect the eyes.”.
      a) that
      b) than to
      c) are

	83. Choose the wrong word: “Those of us who have a family history of heart disease should make yearly appointments with their doctors.”.
      a) their
      b) should make
      c) yearly

	84. Choose the wrong word: “If he would have lived a little longer, he probably would have won the election.”.
      a) a little longer
      b) probably
      c) would have lived

	85. Choose the wrong word: “Excavations in several mounds and villages on the east bank of the Euphrates River have revealed a new city, an ancient community that had been laying under later reconstructions of the city of Babylon.”.
      a) on the east bank
      b) had been laying
      c) later

	86. Choose the wrong word: “Aluminum has a hard imperious coasting which protects the metal from corrode.”.
      a) corrode
      b) hard
      c) imperious

	87. Choose the wrong word: “After learned to print, elementary school children learn cursive writing.”.
      a) children
      b) writing
      c) learned

	88. Choose the wrong word: “Studies of job satisfaction are unreliable because there is so many variables and because the admission of dissatisfaction may be viewed as a personal failure.”.
      a) many
      b) because
      c) is

	89. Choose the wrong word: “Computers have made access to information instantly available just by push a few buttons.”.
      a) have
      b) by push
      c) instantly available

	90. Choose the wrong word: “Latex rubber is made from a milky substantial in plants and trees of the sapodilla family.”.
      a) substantial
      b) milky
      c) tress of

	91. Choose the wrong word: “Fishing have been found to contain a particular type of fat that may help lower blood cholesterol levels.”.
      a) levels
      b) to contain
      c) Fishing

	92. Choose the wrong word: “When caterpillars are fully-grown, they attach themselves to a leave or twig and form a shell around itself called a cocoon.”.
      a) around itself
      b) are fully-grown
      c) called

	93. Choose the wrong word: “In experiments with large numbers of animals crowded in small cages, some have not been affected, but the rest of have shown all of the symptoms associated with stress and mental illness.”.
      a) large numbers
      b) the rest of
      c) have shown

	94. Choose the wrong word: “The athlete, together with his coach and several relatives, are traveling to the competition.”.
      a) his coach
      b) with
      c) are

	95. Choose the wrong word: “The man earned the funds to go west by sale his new ideas about growing potatoes.”.
      a) sale
      b) the funds
      c) about

	96. Choose the wrong word: “Before television became so popular, Americans used to entertain each other in the evening by playing games, saying stories and singing songs.”.
      a) so popular
      b) saying
      c) each other

	97. Choose the wrong word: “The professor had already given the homework assignment when he had remembered that Monday was a holiday.”.
      a) Monday
      b) was
      c) had remembered

	98. Choose the wrong word: “Alice Wilson, she spent her life working with the health and welfare of the families of workers.”.
      a) she
      b) her life
      c) welfare

	99. Choose the wrong word: “It is extremely important for an engineer to know to use a computer.”.
      a) it is
      b) to know
      c) extremely

	100. Choose the wrong word: “The master of ceremonies announced in a loud and clear voice and told that the dinner would be late due to unforeseen circumstances.”.
      a) of ceremonies
      b) due to
      c) and told

	101. Choose the wrong word: “Narcis, a character in mythology, gazed at his own image in a pool so ardently that he fell into itself and downed.”.
      a) into itself
      b) his own
      c) that

	102. Choose the wrong word: “The professor was considering postponing the examination until the following week because the student’s confusion.”.
      a) considering
      b) because
      c) the following week

	103. Choose the wrong word: “Sinaitic is the name of an alphabet which developed their symbols from Egyptian hieroglyphics.”.
      a) symbols
      b) which developed
      c) their

	104. Choose the wrong word: “The native people in the Americas were referred to as Indians because, according to the believe at the time, Columbus had reached the East Indies.”.
      a) believe
      b) referred to
      c) had reached

	105. Choose the wrong word: “After to have won the light-heavyweight title at the 1968 Olympic Games, he began to box professionally.”.
      a) began
      b) to have
      c) professionally

	106. Choose the wrong word: “There are many different ways of comparing the economy of one nation with those of another.”.
      a) another
      b) of comparing
      c) those

	107. Choose the wrong word: “He said he must come to the party if he finishes his assignment for next week’s seminar.”.
      a) must come
      b) finishes
      c) for

	108. Choose the wrong word: “The basic law of addition, subtraction, multiplication and division are taught to all elementary school students.”.
      a) division
      b) taught
      c) law

	109. Choose the wrong word: “She has not rarely missed a play or concert since she was seventeen years old.”.
      a) a play
      b) not rarely
      c) since

	110. Choose the wrong word: “The need for a well-rounded education was an idea espoused by the Greeks in time of Socrates.”.
      a) in time of
      b) for
      c) espoused

	111. Choose the wrong word: “To assure the safety of those workers who must handle radioactive material, the employer should not leave them enter contaminated areas without protective clothing.”.
      a) to assure
      b) leave
      c) who

	112. Choose the wrong word: “The religion attempts to clarify man’s relationship with a superhuman power.”.
      a) The religion
      b) to clarify
      c) man’s

	113. Choose the wrong word: “In 1985, according to the National Center for Health Statistics, the average life expectancy for people born during that year is 75 years.”.
      a) during
      b) born
      c) is

	114. Choose the wrong word: “Many of the famous advertising offices are located in Matrix Avenue.”.
      a) in
      b) located
      c) many

	115. Choose the wrong word: “When he took the ticket out of from his pocket, a hundred dollar bill fell to the floor without his noticing it.”.
      a) without
      b) from his pocket
      c) to

	116. Choose the wrong word: “Each of the nurses report to the operating room when his or her name is called.”.
      a) of the
      b) his or her name
      c) report

	117. Choose the wrong word: “Because blood from various individuals may different in the type of antigen on the surface of the red cells, a dangerous reaction can occur between the donor and recipient in a blood transfusion.”.
      a) and
      b) because
      c) different

	118. Choose the wrong word: “Both viruses also genes are made from nucleoproteins, the essential chemicals with which living matter duplicates itself.”.
      a) also
      b) living
      c) are

	119. Choose the wrong word: “Although the Red Cross accepts blood from most donors, the nurses will not leave you give blood if you have just had a cold.”.
      a) accepts
      b) leave
      c) had

	120. Choose the wrong word: “Economists have tried to discourage the use of this phrase and encouraging the more accurate phrase “developing nation” in order to suggest an ongoing process.”.
      a) the use
      b) the more
      c) encouraging

	121. Choose the wrong word: “Since infection can cause both fever as well as pain, it is a good idea to check a patient’s temperature.”.
      a) can cause
      b) as well as
      c) to check

	122. Choose the wrong word: “Nuclear powers production in the US is controlled by the Nuclear Regulatory Commission.”.
      a) the
      b) is
      c) powers

	123. Choose the wrong word: “The intent of the Historical Society is to restore old buildings and the increase of interest in the history of the area.”.
      a) the increase of
      b) is
      c) area

	124. Choose the wrong word: “The volume four of our encyclopedia set has been missing for two months.”.
      a) has been missing
      b) for
      c) The volume

	125. Choose the wrong word: “Professor Smith teaches both anthropology as well as sociology each fall.”.
      a) teaches
      b) both
      c) anthropology

	126. Choose the wrong word: “Because helicopters are capable of hovering in midair, they are particularly useful for rescue missions, military operates and transportation.”.
      a) particularly
      b) operates
      c) of hovering

	127. Choose the wrong word: “All of we students must have an identification card in order to check books out of the library.”.
      a) of
      b) out
      c) we

	128. Choose the wrong word: “Sometime several nations become partners in a larger political state, as for example, the four nations joined in the UK.”.
      a) several nations
      b) become
      c) Sometime

	129. Choose the wrong word: “The Gray Wolf, a species reintroduced into their native habitat in National Park, has begun to breed naturally there.”.
      a) their native habitat
      b) has begun
      c) reintroduced

	130. Choose the wrong word: “Major advertising companies have traditionally volunteered its time to public service accounts.”.
      a) to public
      b) its
      c) advertising

	131. Choose the wrong word: “Coconut oil produces a soap whom will lather in salt water as well as fresh.”.
      a) whom
      b) salt water
      c) produces

	132. Choose the wrong word: “The organizers of the charity were more than surprised at how many people lined up to receive the clothes donating by the outgoing mayor.”.
      a) how many
      b) the outgoing
      c) donating

	133. Choose the wrong word: “Until recently women were forbidden by law from owning property.”.
      a) were
      b) by law
      c) from owning

	134. Choose the wrong word: “He has become one of the greatest dancer that the ballet world has ever known.”.
      a) has become
      b) dancer
      c) ever known

	135. Choose the wrong word: “Tea did not become popular in Europe until the mid 17th century when it has been first imported to England and Holland.”.
      a) first
      b) did not become
      c) has been

	136. Choose the wrong word: “During wedding ceremonies in the United States guests are usually silence.”.
      a) During
      b) ceremonies
      c) silence

	137. Choose the wrong word: “Supersonic transport such the Concorde will probably be widely accepted as soon as problems of noise and atmospheric pollution are resolved.”.
      a) such
      b) widely
      c) as soon

	138. Choose the wrong word: “Some religions have none deity but are philosophies that function instead of religions.”.
      a) none
      b) have
      c) instead of religions

	139. Choose the wrong word: “A vine climbs from one tree to another, continuing to grow and support itself even when the original supporting tree is not longer alive.”.
      a) to grow
      b) supporting
      c) not longer
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